
SAP ABAP table P0276 {HR Master Record: Infotype 0276 (OPIS - SE)}

P0276

INFTY [CHAR (4)]

PREAS [CHAR (2)]

VSRT [CHAR (4)]

VSCOV1 [CHAR (1)]

VSCAL1 [CHAR (4)]

CURRK1 [CUKY (5)]

VSCOV2 [CHAR (1)]

VSCAL2 [CHAR (4)]

CURRK2 [CUKY (5)]

VSCOV3 [CHAR (1)]

VSCAL3 [CHAR (4)]

CURRK3 [CUKY (5)]

VSCOV4 [CHAR (1)]

VSCAL4 [CHAR (4)]

CURRK4 [CUKY (5)]

VSCOV5 [CHAR (1)]

VSCAL5 [CHAR (4)]

CURRK5 [CUKY (5)]

VSCOV6 [CHAR (1)]

VSCAL6 [CHAR (4)]

CURRK6 [CUKY (5)]

VSCOV7 [CHAR (1)]

VSCAL7 [CHAR (4)]

CURRK7 [CUKY (5)]

VSCOV8 [CHAR (1)]

VSCAL8 [CHAR (4)]

CURRK8 [CUKY (5)]

VSCOV9 [CHAR (1)]

VSCAL9 [CHAR (4)]

CURRK9 [CUKY (5)]

T530E

MANDT [CLNT (3)]

INFTY [CHAR (4)]

PREAS [CHAR (2)]

 P0276-PREAS = T530E-PREAS 
0..N

0..N

T582A

MANDT [CLNT (3)]

INFTY [CHAR (4)]

 P0276-INFTY = T582A-INFTY 
0..N

0..N

T591A

MANDT [CLNT (3)]

INFTY [CHAR (4)]

SUBTY [CHAR (4)]

 P0276-VSRT = T591A-SUBTY 

0..N

1
T5S6A

MANDT [CLNT (3)]

SUBTY [CHAR (4)]

VSCOV [CHAR (1)]

 P0276-VSCOV1 = T5S6A-VSCOV 

0..N

{0,1}

 P0276-VSCOV2 = T5S6A-VSCOV 

0..N

{0,1}

 P0276-VSCOV3 = T5S6A-VSCOV 

0..N

{0,1}

 P0276-VSCOV4 = T5S6A-VSCOV 

0..N

{0,1}

 P0276-VSCOV5 = T5S6A-VSCOV 
0..N

{0,1}

 P0276-VSCOV6 = T5S6A-VSCOV 0..N

{0,1}
 P0276-VSCOV7 = T5S6A-VSCOV 

0..N

{0,1}

 P0276-VSCOV8 = T5S6A-VSCOV 

0..N

{0,1}

 P0276-VSCOV9 = T5S6A-VSCOV 

0..N

{0,1}

T5S6B

MANDT [CLNT (3)]

SUBTY [CHAR (4)]

VSCOV [CHAR (1)]

VSCAL [CHAR (4)]

 P0276-VSCAL1 = T5S6B-VSCAL 

0..N

{0,1}  P0276-VSCAL2 = T5S6B-VSCAL 

0..N

{0,1}
 P0276-VSCAL3 = T5S6B-VSCAL 

0..N

{0,1}
 P0276-VSCAL4 = T5S6B-VSCAL 

0..N

{0,1}

 P0276-VSCAL5 = T5S6B-VSCAL 

0..N

{0,1}

 P0276-VSCAL6 = T5S6B-VSCAL 0..N
{0,1}

 P0276-VSCAL7 = T5S6B-VSCAL 0..N
{0,1}

 P0276-VSCAL8 = T5S6B-VSCAL 

0..N

{0,1}

 P0276-VSCAL9 = T5S6B-VSCAL 

0..N

{0,1}

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 P0276-CURRK1 = TCURC-WAERS 

0..N

{0,1}

 P0276-CURRK2 = TCURC-WAERS 

0..N

{0,1}

 P0276-CURRK3 = TCURC-WAERS 

0..N

{0,1}

 P0276-CURRK4 = TCURC-WAERS 

0..N

{0,1}

 P0276-CURRK5 = TCURC-WAERS 

0..N

{0,1}

 P0276-CURRK6 = TCURC-WAERS 
0..N

{0,1}

 P0276-CURRK7 = TCURC-WAERS 

0..N

{0,1}

 P0276-CURRK8 = TCURC-WAERS 

0..N

{0,1}

 P0276-CURRK9 = TCURC-WAERS 

0..N

{0,1}


